NICHIE]
N

'--& N-010149
MEER - A&

BESE SGP mARIL  CREEES0LS5) R (B|REinh-T)

= BRI/ N I /(T

J—FNo. BZi #EsEEEA t<B d  @ffukres C H JLE AZ(1£x#)
015 15A 21.7 2.0x25| 3/8 | Mbx20 25 | 88 [10.0| 100(10X10)
020 | 20A | 272 [20x25|3/8 | M6x20 | 25 | 89 |10.0] 100(10x10)
025 25A 340 2025 3/8 | M6x20 25 | 93 [10.0] 100010x10)
032 32A 427 12.0x25]| 3/8 | M6x25 25 | 98 |10.0| 80(10x8)
040 40A 48.6 2.0x25| 3/8 | Mb6X25 25 | 102 |10.0| 80{(10x8)
050 50A 60.5 | 2.0%x25| 3/8 MB%25 25 (107 [10.0 70(10%x7)
065 | 65A | 763 |2.0x25|3/8 | M8&x25 | 25 [114 /100 50(10%5)
080 B0A 89.1 |2.0X25| 3/8 | M8x25 25 (118 |10.0| 50(10x5)
100 100A 1143 |2.0x25| 3/8 | MBx25 25 [ 135|100 50(10x5)

KRB .

125 125A 139.8 [3.0%32|1/2 | M10x30 | 30 [166 |10.0 15
150 150A 165.2 [3.0x32)1/2 | M10=30 | 30 [178 | 10.0 15
“ " ol ¥ SA-150R TRA-IS0A 15A-M0A
— VigEhiEmR/IN Y R 1 BRT0 | Nn-012172

MBR - BiE
WESE SGP mEHRTL I CROBES0£5) WAFLAH(SUS304)

J—FNo. HEf ESESEA txB d @tbbres C H JLE AS(188x)
015 15A 217 [2.0x25]3/8 | M6x20 | 25 10.0 | 100{10x10)
020 20A 272 [2.0x25[3/8 | M&x20 | 25 91 10.0| 100{10x10)
025 25A 340 (2.0%x25|3/8 | M6x20 | 25 | 94 [10.0] 100(10x10)
032 32A 427 |20x25|3/8 | M6x25 | 25 | 98 |10.0| 80(10x8)
040 40A 486 |20x25|3/8 | M6x25 | 25 | 102 |10.0| 80(10x8)
050 S0A 605 [2.0x25|3/8 | M6x25 | 25 [108[10.0| 70(10%7)
065 65A 76.3 |2.0x25|3/8 | M8x25 | 25 | 114 [10.0| 50{10x%5)
080 80A 89.1 [2.0x25[3/8 | mMBx25 | 25 [120[10.0] 50(10x5)
100 | 100A | 114.3 [2.0%25|3/8 | M8x25 | 25 [134 [10.0] 50(10x5)
125 | 125A | 139.8 [3.0x32[ 1/2 | M10x30 | 30 [158|10.0 15
150 | 150A | 165.2 [3.0x32] 1/2 | M10%30 | 30 [174 [10.0 15

m (BISRRGIRPCR/NVRI D DB N-010150
== 2 T 83 IRPCR/N Y R I /T

MBE - AR

nESHE ECS/ Y T@EVD/PC) MERTL ICR M (BRERDOT) ATV
LB (SUS304)

1 25ALL HEHEES 1 TOTLICBIET,

J—FENo. EEH BESEEEWA) txB d @ftibbrys C H JLE J\ﬂﬂﬁxﬁ)
015 15A 257 |2.0x25[3/8 | M6x25 | 25 | 85 [10.0
020 20A 31.2 |2.0x25[3/8 [ M6x25 | 25 | 90 [10.0 =
025 25A 376 |2.0x25[3/8 | Mex25 | 25 | 91 [10.0 —
032 32A 463 [2.0x25]3/8 | M6x25 | 25 | 98 |10.0 =
040 40A 522 |20%25|3/8 | M6x25 | 25 | 100 |10.0 =
050 S0A 64.1 [2.0x25)3/8 | M6x25 | 25 [110/10.0 =
065 654 79.9 |23x25  3/8 | M8x25 | 25 | 115 |10.0 =
080 80A 927 [23x25)|3/8 | M8x25 | 25 |12010.0 =
100 100A 118.3 [2.3%25)| 3/8 | M8x25 | 25 | 138 |10.0 =
125 | 125A | 143.8 [3.0x32] 1/2 | M10x30 [ 31 [170[10.0 —
150 | 150A | 1702 [3.0x32] 1/2 | M10x30 | 31 [183[10.0 —

9 {3 N-010186

MER - AF
BEAE: BATEEOR/ ) MHETAICR BB E@REHNDT)

J—FNo. Ei#ff ESEEERA) txB d @fmibhres  C H JLE AZ(1&£ExEH)
040 40A 52.2 |2.0x25)| 3/8 | M8x25 24 100100 =
050 S0A 64.1 |2.0x25|3/8 | M8x25 | 24 | 110|100 —
065 65A 79.9 |2.0x25) 3/8 | M8x25 24 [115]10.0 =2
080 80A 927 |2.0x25)|3/8 | M8x25 | 24 |120|10.0 ==
100 100A 118.3 [2.0%25| 3/8 | M8x25 24 (138100 =
125 125A 143.8 | 3.0x32| 1/2 | M10x35 | 30 (170 |10.0 ==
150 150A 170.2  [3.0%32 | 1/2 | M10x35 | 30 [ 183 |10.0 ==

o021




